
Transit Planning 

SOLUTION 
 

This is a bridges puzzle.   Solve the puzzle, then read the leftover 

letters: WHEELINTHESKYBAND.  The band who did “Wheel in the 

Sky” is JOURNEY, the answer to the puzzle. 

 

① W ④  T    R  ⑤  O  ④ 
H  G        A    T 

④ K ⑤  P    E  ⑥ S ②   
B  H        Y     

② A   T  ③ N ④    E  S 

E  L    I  E       

②  A    L  ⑤ N G T   ② 
O               

④ U ④  B  ② H U E ⑤ K ②  S 

  I          I   
C  ③ V ② K S  N  S Y ④ Y ④ 
               

③ B     H A ②  P  T  M 

W               

④ A   J  ⑤ P  A ④ N ① D ② 
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